104 - — 1 |0 — 1 r T r+r 1 - 1T T T T T 7 .
- —— yC —>1C (Coherent) ]

[ —— yC ——> X (Incoherent)

- ———yC —> w(——>1y) X (Omega decay)
i Total

3
10°F k=52Gev ;
6, =2.25 deg. )

0.84 0.86 0.88 0.90 0.92 0.94 0.96 0.98 1.00 1.02
X = EnO/k



d°o/dedx (pub/rad)

——yC —> X (Incoherent)
- ——yC ——> o(——>1y) X (Omega decay)

Total

k=15.2GeV -
6, =3.75 deg. ]

080 08 09 095 1.00 1.05
X = Eno/k



' | ' |
—— \Pb —> X (Incoherent)
——— yPb ——> w(-—>my) X (Omega decay)
Total

k=5.2GeV
6, =2.25 deg.

0.90 0.95
X = Eno/k

1.00

1.05



100000 f————————+—————————

—— yPb ——> 17X (Incoherent)
——— yPb ——> w(——>1y) X (Omega decay)

/\1 OOOO . Total ]
k=5.2GeV ]

6, =3.75 deg.

d°o/dedx (ub/rad
o
o
o

100

0.80 0.85 0.90 0.95 1.00 1.05
X = Eno/k



Carbon

150 ' '
——0,=2.25deg. yC —> m(——>rr°v) X
- ——6,=3.75deg. k =5.2 GeV
£}
©
£100 |
=2
>
o
D
o
B
T 50 |
0 ' |
0.7 0.8 0.9 1.0
x = E Jk

Lead
3000 T T T
— 8, =2.25 deg. YPb ——> of—>1ty) X |
2500 | ——6,,=3.75 deg. k=5.2 GeV i
32000 - 1
©
321500 I
>
3
S 1000 1
o)
N_c -
500 i

0
0.80

0.85

0.90
x =E Jk

0.95

1.00



